The ATP Cycle

ATP stands for Adenosine Triphosphate
Components of ATP: Adenosine, Ribose and 3 Phosphate ions

When hydrolysis occurs, ATP loses a phosphate ion which decomposes ATP to ADP and releases energy that the cell can use to continue functioning.

ADP stands for Adenosine Diphosphate

Components of ADP: Adenosine, Ribose and 2 Phosphate ions

When dehydration occurs, ATP attracts a phosphate ion to which it bonds and forms ATP again

The ATP energy pool is used within a minute by a cell and can refill its pool before the same minute is up

Phosphorylation occurs when a phosphate ion bonds to another molecule
